BEXRETADFER. REEF AR OMSREANERFRER
2—2. REE-HHE EHEFOMNEHER

T3
ES&(em) | 1 2 3 4 5 (uSv/h) | (A)(uSv/h) [ (mSv/H)

1 wEERSE | BEE 108178 Bh | 1007 50 |[011 [010 | 010 | 011 | 0.10 0.11 0.10 0.526

2 | ERREBEE ERE [108198| MEh 8:45 50 0.06 | 0.06 [ 0.05 | 0.05 | 0.06 0.06 0.06 0.315

3 | INRKEBE | BEE (108188 £Y | 13:01 50 | 007 |[007 | 008 | 007 | 007 0.08 0.07 0.368

4 | WHEEE | EE [(10A208| Bh | 1312 50 |008 006 |008 | 010 | 0.06 0.10 0.08 0.420

5 EMRESE | EE |10A20H| BEh 9:00 50 0.07 | 0.07 | 0.07 | 0.06 | 0.07 0.07 0.07 0.368

6 | ERPHE ERE |108188| HEEh | 15:30 50 0.09 | 0.06 [ 005 | 0.06 | 0.06 0.09 0.06 0.315

X1, BEXATORZEORREST HEEE=1.0uSv/h

X2, FREBREMSv/E) = {(THE(u Sv/n) x 8EFED) + (FIE(u Sv/h)) x 0.4 % 1685/} x 3658 1,000

(fFFh) FERREMSv/E) = {(FEHE(u Sv/h)) x 8EFE (1 B 245 DN, BSMZWBRERFED) + (FEHE(u Sv/h) X 04LERBRE GEALSIR (04) DHEHKRE
RE) x 16650 (168 EIFET DLW EF/NE—2FRTE)} x 365H +1,000(BEAZIVIZET A)



